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60 90 120
3 55 130 208
4 60 160 330
1 5 60 160 330
7 50 140 300
10 45 100 170
12 55 130 208
15 55 130 208
16 60 160 330
SEm HHATN Nm 20 60 160 330
25 60 160 330
) 28 60 160 330
30 50 140 300
35 60 160 330
40 50 150 310
50 50 150 310
70 50 140 300
100 45 100 170
BRABEIFETN Nm 1.2 3~100 2. 5{SENEH R
1 3~10 97%
R %
2 12~100 94%
1 3~10 30000
SEfERE h
2 12~100 20000
TIERE °C 1.2 3~100 -10°C ~90°C
oo 7ar=243 = 1.2 3~100 P65
RITIE - 1.2 3~100 [E5<vslc)!
P aremin 1 3~10 3~5 3~5 3~5
2 12~100 5~7 5~7 5~7
BEMANFEIEN N rpm 1\ 3~100 4000 4000 4000
BASIFRAESIF2m N 1.2 3~100 1530 3250 6700
BASVFHIESIF 220 N 1, 2 3~100 765 1625 3350
M B 1 3~10 <56 <60 <62
2 12~100 <62 <62 <64
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T1(575#) | 66.67 8 38.1
T2 M4 [ 11
60 o 70 1315 ., | 5| 60| 70/5.5] 16| 50/17.5 M5 60| 7 |37|28.5 25| 2 | 60| 64110 | 15| 10| 5|18
T4 vs | 1
T1(8653) | 98.43 M5 14 73
90 T2 - 47 | L, | 6| 80|100/6.6| 22| 80|29.5 M8| 90| 10 | 48 [36.5/ 32 | 3 | 89| 94(136.5 19| 15| 6|24.5
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T2 s 1 95 130
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